
s3.kth.se
Flerföreläsareflermöjligheter

•BjörnVölcker,S3,tel.7749,plan4iSTEX-huset.

•Skah̊alla3föreläsningar(6,8och10).

Inneh̊all:Fouriertransformenspraktiskabegränsningar[H6]

Tillhörandeövning5:

Grupp1:9/11,10-12iL21.NiklasWernersson

Grupp2:9/11,10-12iL22.SvanteBergman

Grupp3:9/11,15-17iK51.NiklasWernersson

Grupp4:9/11,15-17iK53.SvanteBergman
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VarförberäknaFouriertransformen?

•Sehurensignalsenergiärfördeladifrekvensiställetföritid.

•Bestämmabandbreddhosensignal.

•Vissamanipulationerärlättareattutföraifrekvensplanet.

(“Riktiga”världensviktigasteverktyg.)

ExaktFouriertransform

Y(f)=

∫

∞

−∞

y(t)e
−j2πft

dt.

Detfinnstv̊apraktiskabegränsningar.

1.Ändligmättid/observationstid.

2.Omberäkningenutförsidators̊am̊astesignalensamplas.
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Ändligobservationstid

•Kanbaramätasignaleny(t)underettbegränsattidsintervallP

ŶP(f)=

∫P

2

−
P

2

y(t)e
−j2πft

dt=

∫

∞

−∞

yP(t)e
−j2πft

dt

•OmPärförlitets̊af̊asend̊aligapproximation.

1.Vimissarenergiutanförintegrationsintervallet.

2.Förd̊aligfrekvensupplösning.Tv̊acosinusarmednästan

sammafrekvenskanseutsomencosinus.Tumregel:

Frekvensupplösning=∆f≈
1

P
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Ändligobservationstid(forts.)

•KopplingtillFouriertransform(yP(t)=y(t)wP(t))

ŶP(f)=

∫

∞

−∞

Y(µ)WP(f−µ)dµ{faltning}

wp(t)=







1|t|≤
P
2

0annars
,WP(f)=

sin(πfP)

πf
=Psinc(πfP)

•KopplingtillFourierserie.

OmyP(t)=
∑

∞

n=−∞cne
j2πn

t

Ps̊agäller

cn=
1

P
ŶP

(

n

P

)

•limP→∞ŶP(f)=Y(f)
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NumeriskberäkningavFT

0246810
0

0.5

1

•Numeriskapproximationavintegralger

ŶT(f)=T

∞
∑

n=−∞

y(nT)e
−j2πfnT

•Ettsignalbehandlingsperspektiv:Signaleny(t)harsamplatsmed

samplingsintervalletT(ellersamplingsfrekvensenfs=1/T).

•limT→0ŶT(f)=Y(f).
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NumeriskberäkningavFT(forts.)

Ettparegenskaper/begränsningar.

1.Periodisk:ŶT(f+kfs)=ŶT(f).

2.Endastfrekvensintervallet[−
fs

2,
fs

2]är“rätt”,d.v.s.

ŶT(f)≈Y(f).Restenserlikadantut,p.g.a.periodicitet.

3.Ärbandbreddenhossignalenförstoriförh̊allandetillfss̊akan

ŶT(f)blinonsens.[meriFÖ10]

•KopplingtilltidsdiskretFouriertransform(TDFT)[Fö8]

ŶT(f)=TYd(fT)

•KopplingtillDFT(omy(t)ärperiodiskmedperiodtid=P)

Y[k]=
1

T
ŶT

(

k

P

)
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Reflexioner

•Ipraktikenharmanb̊adeändligtobservationsintervalloch

sampladedata.[Senästaövning]

•TidskontinuerligFTkanåstadkommasoptiskt.

•Dualitetmellany(t)ochY(f)+Heissenbergsosäkerhetsrelation:

1.∆f·P=1.

Manvety(t)endastundervissttidsintervallP⇒begränsad

upplösning∆fifrekvens.

2.∆t·fs=1(∆t=T).

ManvetY(f)endastförvisstfrekvensintervall⇒begränsad

tidsupplösning(sampling).
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Minnsduföreläsningen?

•VarförbehövsFouriertransform?

•VadhosFTnp̊averkasavettbegränsatobservationsintervall?

•Hurlängem̊astemanmätaensignalommanvilluppn̊aen

frekvensupplösningp̊a0.1Hz?

•VadhosFTnp̊averkasavennumeriskberäkning(sampling)?

•Hurfortm̊astevisamplaensignalomvivillkunnabeskriva

Fouriertransformenförfrekvenserna|f|<500Hz?

DetkommermerundertidsdiskretFouriertransformochsampling.

[Fö8–10]
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